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n 2 3 4 5 6
d2 1.128 | 1.693 | 2.059 | 2.326 | 2.534
A2 1.880 | 1.023 | 0.729 | 0.577 | 0.483
D3 0 0 0 0 0
D4 | 3.267 | 2.575 | 2.282 | 2.115 | 2.004

X At
X ~PO(A);F(x,A) = Z ¢ ﬂ’l . F(3,12.5)=0.0016; F(3,1.25) = 0.9617; F(2,12.5) = 0.0003;
t=0 .

F(2,1.25)=0.8685; F(3,3) = 0.6472; F(2,2) = 0.6767; F(3,2) = 0.8571; F(2,3) = 0.4232

Z ~ N(0,1);D(z) = P(Z < z); ®(2.75) = .9970; D(2.97) = .9985; D(—.0038) = .4985; D(5.15) = .99999;
D(4.04) =.99997; B(2.22) = .98679; D(2.13) = .98341; d(1.677) = .9532; (0.559) =.7119; d(0.75) = .7734;
®(0.25) =.5987



